Jogboootd---oggbogbotobogod

gogn gogoobobb---0bbooooogn
godn goobobbuogogooboon
HEN .00/0
goon go:0o
go:ogd
godn goobobboodi1ioddddasod
goon 13348881986 18123306137
HREREEN

S000008080E8C80000000000oubbbbogoouobbboogoooobbod

goboobboooodad

gobboobbougoooobbo

guoooobbooogoooobood

guooooobbougdaad
guooobobbbogooobobbbgoooobbbboooooobbboood

gobobooggd
O00000C0C8006800000000QU000ub0obobogooouobobooooooboooon

gobbobbbugogogobbobbodooooobobbbouooood
guoooobobogaad
tmhmhmmmmmo oo oo oo ooobboooooboobbod

pmmhmmmmo bbb oobobboooooob bbb ooooboboobobog

81 L L L ) L0 ) L0 4 L0 4 3 L L4 4 0 O 0 £ 0 L £ 4 E0 C B B E E [ L B E [ E E
gmhmhmmmmmmmhhhh;mEommEo 0000000 oo o b oooooooooo
gooboboboooooooooono
iggooboboboooooooboobbooooooobbobobog

phmmmm omhhhohmmmmo o oo oo booboodooooooooog
gmmmiooooboboooooobooboobboooooob bbb bbobobog
gobobobobbooooooooobooon?

1.000o0boooood

Qoo obdoboboobooboooooboboboboboobooooooooobobobOoo
@uuoboboooboobbooboobbooboobboo
boogofbogooofoogofoogooopoogoogy+bbobuoboooboouobobobond



o0

88 8 8 50uhmhEmEHse% i iriisn0 00005%0000000000000000000
00000010000 00000000000 080%0

0000 O O =1000*50%*80%=4000
0000000000000000000000000000000000
2000000000000
IOOOOEOEOEOOIEE000000000000000000000000000000
(QUO00000@O0)000000000000000000010%000
000000005000 00000000000007?

1.0 0 O =(500/1.03)*0.01=4.850 00

2.0 0 0 =4.85*0.06=0.29101

3000000000 =(500/1.03)*0.1%0.3-4.05=10.510 00
000000:156510 00000 O :15.651/500=3.13%0]

M 0000313%0000000000000000000002%0000000000000

gobbobobbuoooooooboobbood


http://www.tcpdf.org

